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1. Farmer Brown collects the data below about the cows on his farm.

Cows in South Field o Cows in North Field

Male fiale

Female Female

=
)
2]
2
s

2 cows

N

The key tells me that each circle represents 2 cows.
That means that haif a circle represents 1 cow.

\

a. How many fewer male cows does Farmer Brown have than female cows?

Male: 19 cows { can draw tape diagrams to
represent the number of
male cows and fernale cows
in the sauth and north fields.
My tape diagrams bhelp me
see that | can subtract 19

from 23 to solve. /

Femole: 23 cows

23319 =7
| can use compensation to subtract. When | add 1 to each

PA P} e 4 number, | have a much easier problem to soive!

Former Brown hos 4 fewer mole cows than female cows.
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b. It takes Farmer Brown 10 minutes to mitk each female cow. How many minutes does he spend

milking all of the female cows?

i

South _ | can draw tape
Field: diagrams to
model the

§. e problem. Each
16 minuies unit in the tape

. diagrams
N'orth - represents the
Fioid: _ i i. 10 minutes it

»-Y-»J takes to milk

10 minutes ,\1 cow. )

23=x10 =7 | can see in my tape diagrams that there are 23 units of
10, which | can represent with 23 X 10. | can use the
(20x10) +(3x10) = break apart and distribute strategy to solve. Or | can find

the total minutes for the cows in each field and then add.
200430 = 230

Farmer Brown spends 230 minutes milking all of the female cows.

c. Farmer Brown’s barn has 6 rows of stalls with 8 stalls in each row. How many empty stalls will there
be when all the cows are inthe barn?

?
i
| can draw a tape diagram to model the rows of stalls in
the barn. | can multiply to find the total number of stalls.
R
B siails
| know there are 19 male cows and 23 female cows from my
waork in Problem 1(a). | can add to find the total number of
cows, 42. Then, | can subtract the number of cows from the
number of stalls to solve for the number of empty stalls.
191+ 1 =320
204+ 22 =42
4842 =6 There are 6 empty stalls when alf of the cows ore in the born.
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lLesson 4: Solve one- and two-step prabiems involving graphs. EUREKA
MA




